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1. WG1-2
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+ 20ppm L < > [dBm]
4ch 800KHz
[MHz] pm] | ¢ )
300716 922.69775641 -2.4 442.02 22.28
30 MHz 710 MHz 710 MHz 900 MHz 900 MHz 915 MHz
-36 dBm /100kHz -55 dBm /1MHz -55 dBm /100kHz
MHz dBm MHz dBm MHz dBm
453.91 -61.03 852.5 -60.76 913.82 -59.14
915 MHz 920.3 MHz 920.3 MHz 924.3 MHz 924.3 MHz 930 MHz
-36 dBm /100kHz -29 dBm /100kHz -36 dBm /100kHz
MHz dBm MHz dBm MHz dBm
920.18 -40.33 923.3 -32.5 924.3 -39.94
930 MHz 1000 MHz -36 | 1000 MHz 1215 MHz 1215 MHz 5000 MHz --
-55 dBm /100kHz -45 dBm /1MHz -30 dBm /100kHz
MHz dBm MHz dBm MHz dBm
930.11 -60.31 1044.45 -60.82 2768.68 -33.68
]
3dB
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3. 920MHz WG1-2
_1
<
2012 2014 2020 2024
531,674 10,631,110 59,457,084 131,514,274
607 12,145 164,353 230,898
0 0 0 0
474,000 9,480,009 47,400,046 94,800,091
18,794 375,977 2,819,143 15.034,841
85,469 1,709,387 15,085,744 51,273,675
53 1,056 10,597 45 440
25,007 500,142 5,000,709 10,001,418
24 750 495,000 4 950,000 9,900,000
1,135,605 22,709,726 129,937,675 312,800,637
|
9 2014 950MHz
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9 920MHz 920MHz
1,045,200 1578,478
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J

(951.2MHz 200kHz 3ch ) LTE

J Duty
Duty 10%  25%

CIR

J CIR 0.5dB 0.5dB
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(947.5MHzZ)

CIR 0.5dB

0.5dB

E T N e e s N S A A # £t 7—1 Duty bk 35TE CIR RURATHEHORKER

A \ L7 \ 5t Al Hi % CIR P (P
20 ‘\ x \ . L 7.5dB -109.0dBm/5MHz  (-116.0dBm/MHz)
70 \ \ /A— 2 b Duty . 50% 5.7dB -107.2dBm/5MHz  (-114.2dBm/MHz)
" \ SRR X=X I Duty F_25% 52dB | -106.7dBm/5MHz_(-113.7dBn/MHz)
z% 1 \ \ = 73— 2 i Duty H 10% 47dB | -106.2dBm/5MHz_ (-113.2dBm/MHz)
Tso *'\ Sy - /S—A ki Duty £ 5% 4.3dB -105.8dBm/5MHz  (-112.8dBm/MHz)
L \ 7 I 3—% ¥ Duty H 1% 0.5dB -102.0dBm/5MHz  (-109.0dBm/MHz)
\ \ A—A ki Duty b 0.1% -15.3dB -86.2dBm/5MHz  (-93.2dBm/MHz)
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< 1> 250mW WG1-2
_1 |

J J 3km

J 2m (PER1% )

9 922.7MHz J RSSI 6dB

J 250mW

J 100kbps

ON OFF

RSS! (dBm) PER RSS! (dBm) PER

50m -50.7 -50 -52 2.0 0 50m -50.7 -50 -52 2.0 0
200m -57.9 -57 -59 2.0 0 200m -57.9 -57 -59 2.0 0
500m -72.1 -71 -73 2.0 0 500m -72.2 -71 -73 2.0 0
1000m -84.9 -84 -86 2.0 0 1000m | -83.2 -82 -85 3.0 0
1500m -90.7 -90 -92 2.0 0 1500m | -90.7 -90 -92 2.0 0
2000m -97.7 -96 -99 3.0 0 2000m | -93.2 -92 -98 6.0 0
2500m -08.8 -08 -100 2.0 0 2500m | -97.5 -96 -100 4.0 0.1
3000m -100.1 -99 -102 3.0 0.8 3000m | -100.4 | -99 -103 4.0 1.0
3500m -102.8 -101 -105 4.0 12.8 3500m | -100.3 | -99 -102 3.0 3.3
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